ACZY

- UDGALEZIEN SIECT KANALIZACJL SANITARNEJ

-~

PROFILE PODLUZNE PRZYL

1007500

Skola 1

ul. Hubala 41 Uwaga:

ul. Hubalg 14
dz. nr ewid. 136

ul. Hubala 49
dz. nr ewid. 131

ul. Hubala 29
dz. nr ewid. 128

ul. Hubala 41
dz. nr ewd. 129

ul. Hubala 29 ol. Hubala 27
dz. nr ewd. 12/

dz. nr ewid. 120

ul. Hubala 8
dz. nr ewid. 168

ul. Hubala 15 ul. Hubalg 4

dz. nr ewid. 121

ul. Hubalg 13
dz. nr ewd. 120

ul. Hubala 11
dz. nr ewd. 119

ul. Hubala 9

dz. nr ewid. 118

ul. Hubala /
dz. nr ewid. 117

ul. Lelewela 7 ul. Hubala 9
dz. nr ewid. 48

dz. nr ewid. 241

ul. Hubala J

ul. Domeyki 2
dz. nr ewid. 20/

ul. Jeczmienna 12

dz. nr ewid. 134

dz. nr ewid. 1/0

dz. nr ewd. 1014

dz. nr ewid. 93

dot. Skrzyzowan przytqczy sanitarnych
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